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Partner A solves the first problem verbally

Partner B watches, listens, checks and coaches if necessary praises. When response is agreed Partner A writes the answer.
Partner B solves the next problem

Partner A watches, listens, checks and coaches if necessary praises. When response is agreed Partner B writes the answer
Repeat the process until all tasks are complete and you have a coherent paragraph which answers each challenge
1. What are the main differences between a Marxist and a Weberian view of social class?
2. According to early Marxism what is class consciousness and how does it develop?
3. According to Neo Marxism what is false consciousness and how is it constructed?
4. Describe the Registrar General’s classification of social class and give three criticisms of it
5. What does it mean to ‘operationalize the concept of social class’ and why is occupation a good way of doing this?
6. Describe the NS SEC classification of social class and suggest two ways in which this is an improvement on the RG classification

7. How do functionalists interpret the stratification of modern societies into social classes? Give examples

8. Give 4 criticisms of the Marxist view of social class

9. Define ‘life chances’ and give six ways in which social class can impact on life chances

10. Define ‘social mobility’, ‘open society’ and ‘closed society’. List the factors which may influence your prospects of upward social mobility in the next 10 years.
